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SN RFS

M QS KNEMNLAS (ZELXAMNL/XNSLT Al
SRl XS F=0l=2 ALY (AL
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OARD FOIMEFIAY
60,000,000 1Al 60,000
AR S AS Y 158, 131 153,080 5,051
401 Al&HI LY 158,131 153,080 5,051
01 Al&H] 157,000 152,000 5,000
OWdEH 2etX 22 XA (L=2km)
10,000, 000! * 1Al 10,000
OZLH ofglol22 |Xlzel
1,000,00024 * 1404 A 14,000
OZLH dt=E B4 10,000, 000! * 1Al 10,000
OgHs e o 2 30,000,000 * 1Al 30,000
OXXe| B2 & XI(L=50m)
20,000,000 * 1Al 20,000
OZm™e| =2 = HI(H=3m,L=50m)
15,000,000 * 1Al 15,000
OZHel A& &l (H=2m,L=12m)
10,000, 000! * 1Al 10,000
OAMd3Hel & 242 0tSet2 A
20,000,000 * 1Al 20,000
OS2z 29 Fy| 8,000,000 x1A! 8,000
O2=12| oS8 L otuTH
20,000,000 * 1Al 20,000
03 AlX=20HHI 1,131 1,080 51
OAFZ FO=SAALS AILL20H
157,000,000 %0.72/100 1,131
HES2AZH| (LEES)(IIEHDIE}) 305,527 313,862 A8,335
ol 2| 14,600 13,900 700
SHE2AY 14,600 13,900 700
203 AU =ZAH 14,600 13,900 700
01 J|Z2A2IAR=3Y| 7,900 7,200 700
OJI2A2HARE=XH| 7,900,000& 7,900
02 HAIMADEZXY| 1,720 1,720 0
OFAINAARZ=XIH| 40,000 +43H 1,720
04 BA2IAR=ZH| 4,980 4,980 0
ORNSYALTNH| (M :43H) 4,980
-Jle 350,000 122 4,200
-z 5,000 13 » 122 780
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SN 2FS
s AAY(REE)(OIEHIIE)
CHel: D= 2| (Sl @8
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K %Egﬁ HusZ
JEETN 290,927 299,962 £9,035
ST 159,227 157,449 1,778
201 Bt 159,227 157,449 1,778
01 At elt] 47,450 47,700 A250
O1. e+t 26,700
SN Lra | 26,700,000% 26,700
032944 8,550
&=yl 50,0002 *(110+61) 2 8,550
O5.2 2| 8,600
=AY S 8,600,0002! 8,600
06.2%tE 3,600
-#EeY MHANE 3,600,0002! 3,600
02 22| 11,777 109,749 2,028
O1.Z22232HAl 77,270
~F0|2 2,360,002 2,360
=2 1,700, 0002 1,700
tzse3 50,500,000% 50,500
S-EPIILEA= 250
| X 50,0002 150
e 100, 0002 100
~ENYERBE 1,000,002 1,000
L LN 1,460
s8(48) 810,002+ 14 810
ste(48) 650, 0002 1H 650
O2.9 24| 3,589,0002! 13,589
O3. Al 2 ZHI R X 13,176
-IZSR 5,0002 +833S 4,415
—A 2R 6.061,0002 6.061
S IEESIEM 2,700,0002! 2,700
O4.xH2 4 Bt 7,742
-S8(48) 4,501,0002*14 4,501
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SN 2FS
o WHSAAH(LFES)OIEH/IIE)
£l 23| (9l @2l
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
-3t (£ 8) 3,241,000« 10H 3,241
Y2 T 0fH| 124,800 121,680 3.120
202 o1t 124,800 21,680 3,120
02 20Tt 124,800 21,680 3.120
Of %01t 260, 0002 *40% * 122 124,800
Tt o 23S 6,900 20,833 £13,933
405 XterF St 6,900 20,833 £13,933
01 MEUSEFSH] 6,900 20,833 £13,933
Oslolg =X A 200, 0002 #2074 4,000
OSHAED 7Y 700,000 1H 700
OANRE 2y Y 200, 00024 +57H 1,000
OANRE olX 2 100, 0002 *54 500
OBA™BI| 7Y 700, 00024 #1CH 700

_18_



FA S
N (2 =5

oh9l: X058

_ _ HE T
SN -EHH . (B) - MPAY - BE2 Aol Sl ko HRE2
CHsH 498,848 482,363 16,485
S0 SEHERG (LSS /YBAA) 185,440 174,090 11,350
sty HEER 183,307 150,914 2,393
g dE2Z 34,628 24,942 9,686
201 Ysr2gyl 8,190 4,350 3,840
01 AtR2&cldl 8,190 4,350 3,840
O5. 22| 8,190
SEHRUHET OFA22X 24
7,000 «15H *3L 122 3,780
HEHEE 022X 24
7,000 «3H « 152 *23] 630
SME0Y U HIARRX B4
7,000 x3F 180 3,780
202 OdHl 2,880 2,880 0
01 =LAl 2,880 2,880 0
OzBHI2Y =X
60,000 x2H 32 x53] 1,800
OZSAHEH F20i]
60,0003 »2H +3 x33] 1,080
301 Lptsazg 8,558 7,712 846
09 BU2RRIUBL 6,388 6,212 176
O3dZFE 6,388
-2 88,000 x2EH « 123 2,112
-S4l 5,000 x2H 22 x 123 2,640
DSt 2,000 %2 %222 #12% 1,056
=28= 130, 000& »2H +2E 520
—cofgsE 15,0002 %2 x22 60
10 BAIAHIENS 2,170 1,500 670
OAZHAEA DAL (DF,5]9, BH Q)
7,000 30«73l 1,470
OMHYSEHDS B&T S4Y)
7,000& 100 700
401 A&HIL RO 15,000 10,000 5,000
01 Al&HI 15,000 10,000 5,000
OFA T4 2 3loa BAHY|
15,000,000& * 14! 15,000
sclgtd 24 60,260 57,030 3,230
|
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fA UsH

o (S0 SHUDSY (YD /ABHE)
ol FOISHE BHCD (5 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 YL 60,260 57,030 3,230
06 E-2l-UHEBSEH3 60,260 57,030 3,230
Oselz+g 55,760
JlEay 200, 00024 #1784 +122 40,800
-5012 200, 000! #1723 23| 6,800
S EPa= 20,0002 %173 +23| * 122 8,160
BHE 4 25,0002 *90% *23] 4,500
Nees 29 58,419 68,942 £10,523
o124l 8,067 0 8,067
10 JRAHZEZNSES 8,067 0 8,067
=Ns BelRY 33,5002 #12§ x2202 7,370
AH2E BRI 7,370,0002 9. 4% 697
st gy 48,392 52,192 3,800
NEEE 19,220 23,020 3,800
O1. 2er4gY| 9,620
-2 X512 LS| 2,000,000%! 2,000
~SYINEY AL 100,0002 122 1,200
“HASE U BTAUSE 7Y
100,0002 122 1,200
-MYIIBHR(1002)2E 7Y
2,2002! %500+ 122 1,320
~HaE HA 500, 000! +13] 500
-293 Fay 1,000,000 1] 1,000
~ROIAHIBY +4E 10,0002 122 1,320
“EIlgE B HEaaR 90,0001 %122 1,080
3.2g4g 9,600
~=X52 H0IRA ZR0Y Y4y
30, 00024 #4% x2A| 24407 9,600
zz29y 29,172 29,172 0
| 2ZQIUHA 24,540
Pl 1,400,002 * 122 16,800
54T N8R 200,0002! %122 2,400
85232 45,0002 +122 540
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FA S
N (2 =5

cH9l: F0I5HE

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
“HEH ABE 150,0002! * 122 1,800
N ] 2,800, 0002 2,800
S CP =t 100, 0002 %23 200
O3. A& ZEIRXIHI 4,632
A2 1,632,0002 1,632
e EISIE=NL:] 3,000, 0002 3,000
301 YsrEaa 1,960 2,000 A40
10 BAAUEAS 1,960 2,000 A0
OSXEZ NHASAKXE SABS S
7,0002! %352 +83] 1,960
W MEEE T4 32,133 23,176 8,957
gl ol 9,483 10,176 A693
101 Q124H| 6,430 6,259 171
10 JIZH22NERS 6,430 6,259 171
OSBRI LAY ol
36,7102 %23 4802 5,874
O4UEE IR 5,874,00021 %9, 45% 556
206 Mzl 3,053 3,917 864
01 M=ol 3,053 3,917 864
OgeAY RBU(LR)
1,59021 %24 § +802 3,053
M s A Iy 22,650 13,000 9,650
101 QI2AHl 22,650 13,000 9,650
10 JIZHIZNELS 22,650 13,000 9,650
QAN L H2EHIFH (AL HE
) 22,650
-0l 200,0008! * 158 «7 2 21,000
-2E 2 2l 10,0002 152 1,650
& NHMLAS (RELTGIHL /X AU A 130,720 130,720 0
NEELIEEPN- 130,720 130,720 0
WEINE=T] 50,000 50,000 0
401 ASHLLHH 50,000 50,000 0
01 Al&H] 50,000 50,000 0
OATS FOIMEHO AL
50,000,002 *14} 50,000
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fA UsH

A S NAWLAL(RELNANL/NALEA)
9l XI%IF0IS ALY (S5 &8 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
AR D XIS ARSI N 2 80,720 80,720 0
401 AlEHIL 2O 80,720 80,720 0
01 Al&H] 80,000 80,000 0
oS As 2 24 10,000, 0002 * 14! 10,000
OZSiel 0122 HTF L o4+ =H
(L=20m) 20,000, 00021 #14] 20,000
Ol 2R 2 A5t8 Jy|
20,000, 00021 *14] 20,000
OCH2¢22] £5H& FHI(L=100m)
10,000, 0002 * 14! 10,000
Ottofel 2D HM(LHLA &X)
20,000, 00021 #14] 20,000
03 A&l 720 720 0
0272 FOAXAAY A&LUY]
80,000, 0002 %0.90/ 100 720
#H2 YA (HSS)(OIEHIIE) 182,688 177,553 5,135
ol 2e| 30,027 27,193 2,834
e REEETE 30,027 27,193 2,834
101 Q12| 18,427 16, 193 2,234
09 SINAA2EZX2H 18,427 16,193 2,234
O=X352 2eloey 18,427
SIEE 29,0102 +12§x3002 8,703
G 725, 2502 * 12 %300% 2,176
E-ESIL] 725,250 %124 %120% 871
~Z A ZAY| 80,0002 +12f 122 960
“DELFY| 30,0002 %12+ 122 360
ObEag 10,0002+ 1%+ 122 1,200
NZQDRAL 5,440+ 1224 2122 1,437
-Fgag 29,0102 +12§ x522 1,509
—2201E 29,0102 %124 * 12 x 122 #50% 175
IS e 50,0002 +12§ x 128 600
~01 R 29,0102 %12+ 152 436
203 AREXY| 11,600 11,000 600
IIPIEEEEEESTY 6,600 6,000 600
OJlZ2YALEAY| 6,600,002 6,600
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M BE
HH: HAH2AZHI(HSH)(IIEH/IIE)
&Rl el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 HIFRFEY 800 800 0
OFJ It R =48] 40,0003 20 800
04 REA2ELRFAH 4,200 4,200 0
ORAN2IIRFXH (HH:20Y)
350,000& *12& 4,200
Jl2& | 152,661 150,360 2,301
FA2EH| 85,829 84,060 1,769
201 ZEH2IH] 85,829 84,060 1,769
01 AR 2&cldl 28,910 29,160 A250
O1.get===4] 14,200
-2AE29Y Let=2H] 14,200,000& 14,200
03.28=¢ 8,550
-2 =2 50,000& *(110+61) 8,550
O5.=2&Hl 4,000
-FA2YE S 4,000,000& 4,000
O6. 81z 2,160
-HER2Y ZHIYX= 2,160,000& 2,160
02 23244l 56,919 54,900 2,019
O1.2223LAA 41,838
&Iz 9,888,000& 9,888
St 900,000 900
-I2ESRs 27,500,000& 27,500
-SINERE= 200
CXHE 100,000& 100
ra— 100, 000& 100
—EAESESRER 2,700,000& 2,700
“XEHAS U= 650
cEE2(4E) 650,000 1 CH 650
O2. 42| 5,223,000& 5,223
O3. A€ ZHIK Xl 6,617
-2 SR X4l 5,000& *320S 1,600
-d ==Xl 3,517,000& 3,517
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SN S

M HY2SZHI(HSS)(IIEH/IIE)

e =3l (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
==l =N L] 1,500,000 1,500
(OZWNI=Fal=g:] 3,241
-St2(AE) 3,241,000& = 1CH 3,241
HE=A0HI 62,400 59,280 3,120
202 O4Hl 62,400 59,280 3,120
02 BHNHI 62,400 59,280 3,120
OEHNHI 260,000 »20H =12 62,400
et & 2 FFHSEHI 4,432 7,020 A2,588
405 KA SHI 4,432 7,020 A2,588
01 TR =SSHSHI 4,432 7,020 A2,588
o3Il ¢ 2,482,000 *1CH 2,482
OSTEANE ¢ 1,000, 0003 1= 1,000
Ogelg A0 ¢ 200,000 =34 600
oWl ¢ 350,000 = 1CH 350
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2N S
3 SO SHUDSY (YT /ABHE)
ol FOISHE BHCD (Eh9): & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
S 8 o 606,323 593,758 12,565
SHHY ZRUTLY(YUDTHT/ABHE) 250,911 236,028 14,883
0158 HYCR 199,254 194,629 4,625
z8 By 66,763 64,238 2,52
101 oIty 8,067 6,368 1,699
10 JRAH2EZNS 2SS 8,067 6,368 1,699
SELIET - EIEIET 33,500 %1% %2202 7,370
O4tRE 2R3 7,370,0002 *9. 4% 697
201 Ysregy) 11,346 5,070 6,276
TR 8,946 5,070 3,876
05. 32| 8,946
-EHHYET ORA2LX 24
7,002 * 182 +32 + 1231 4,536
“HYNE S OFA22X SA
7,000 %3 * 152 +23] 630
~MHE20Y U HARRX B4
7,000 %3 * 1802 3,780
2 BT2YH) 2,400 0 2,400
OSHEILIAR FIIRD 200,0002! +122 2,400
202 oft 3,240 3,240 0
01 =LHolb 3,240 3,240 0
OZBHYSY V0L
60, 00021 %2 x321 +63] 2,160
ORAME A =01t
60, 00021 x2% +32 +33] 1,080
01 YBEH 34,110 32,560 1,550
00 BOA2LRALAS 31,940 31,060 830
OEEEL-T! 31,940
Dl 83,0002 * 1024 +122 10,560
-S| 5,000+ 10% +222 + 122 13,200
-DEH| 2,002+ 10Z %222+ 128 5,280
aes 130,002 ¥ 108 x2 5 2,600
SO BEE 15,0002 %102 x22 300
10 BAMHIEAS 2,170 1,500 670
OLTZHAEA SAHI(DF, 519, BHQ)
7,000 +30% +73] 1,470
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S S
i S0 EEHNSY(UNDDHE /UBHE)
chel: ZE0IgHE BHCQ (9l &2)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
OMMllEs&EAHn=s 24X 34|
7,000&*100H 700
401 A&EHIZE20HY] 10,000 17,000 27,000
01 Al&H| 10,000 17,000 AT7,000
OFA ESALEES DH(ZSYU2, i )
7,000,000 1Al 7,000
OQOUAIR A OHLY 2HEF A X| 3,000,000 * 1A 3,000
ScedE 29 98,990 98,990 0
301 et Az 98,990 98,990 0
06 E-2|-BAESEMAZ 98,990 98,990 0
Oscl&dY 91,840
Il 200,000 «28%H «12& 67,200
-&02 200,000 x28H x2 3| 11,200
-39 =& 20,0002 x28H x23| x 12& 13,440
Ol FSE=, 25,0002 x143H x23| 7,150
NE=23 29 33,501 31,401 2,100
201 LBt2d9d| 18,501 18,501 0
01 AR2t2lb] 6,440 6,440 0
O1.det==2Y| 4,520
-=232l & YUt 2H]| 1,200,000& 1,200
-HAEE 9 ARE ¢ 100,000& x12& 1,200
-HotX AHAH| 200,000& =13l 200
-SE 3 HAH| 300,000 13| 300
-201AHHIEY == 110,000 x12& 1,320
-MJjotM 2t a2 300,000 300
O3.8g94% 1,920
-EotWal T2 2HLH
30,000 x1H %2 Al 2t%32F 1,920
02 2244 12,061 12,061 0
O1.2Z2Z22%HA 5,820
-HI|IR3 360,000 «12& 4,320
Al AIEE 30,000 x12& 360
N33 35,000 x12& 420
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2N S
o Solo SEUTLY(YNITYT/ABHE)
o9 FDISHE BHETD CLRE

_ _ SIEN
M- B S(3H) - MRAY - BES Arel e HlE2
-HdE3H AIEE 35,000 123 420
-StHHEE= 200, 000& 200
-SIMNERE= 50,000& *22] 100
O2. 9= Hl 3,301,000& 3,301
O3. A2 ZHIs Xl 2,940
-d ==Xl 1,740,000& 1,740
= A=a-UWI BN s ] 1,200,000& 1,200
401 AIEHIZL =0 15,000 10,000 5,000
01 AlI&HI 15,000 10,000 5,000
OS2t E &= Al 15,000,000& 14 15,000
jEe dEEd x4 51,657 41,399 10,258
b2k 8,890 8,621 269
101 Q12| 6,028 5,867 161
10 JIZAH22ANASES 6,028 5,867 161
OctED| MY 2
36,7103 x2H +75 5,507
O4UEE JI2RY= 5,507,000& *9.45% 521
206 TH=HI 2,862 2,754 108
01 XZHl 2,862 2,754 108
OLAMY SRURLS
1,500 %24 £ +75& 2,862
MESHAFH| 42,767 32,778 9,989
101 1A 26,317 16,538 9,779
10 JIZAN22ASES 26,317 16,538 9,779
Odi==% FAARY 33,5003 x2EH +50! 3,350
O4AUEE JI22E3 3,350,000& +9.45% 317
Oz Me=H HAAY|(dXtel &5
) 22,650
-2 200,000 15 «7& 21,000
-28 ¥ A 110,000& «15¥ 1,650
201 LEHRHH| 14,700 14,700 0
01 AtR2&cldl 14,700 14,700 0
O6. 28Xtz 14,700
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SN SHe
M SHiY SHUTSY(LUTIHT/ABHT)
Pl HEE MBEY E4 (5l &2
ol (= (=] 1E- I|_-|LI;=|_||:_ =
N33 S2(3H) - MEAMY - BES &hoh Ol AF o8 Hws2
HOrEA BUIYRE 350,000% 6L +72 14,700
206 &Yl 1,750 1,540 210
T 1,750 1,540 210
OfrEABE e 1,750
PP 25021 %7, 00001 1,750
NAMLA (REUT AL /X AL T A 142,828 140,810 2,018
NEESIEE IV 142,828 140,810 2,018
N 50,000 50,000 0
401 AlEHILL 0] 50,000 50,000 0
01 Al&H] 50,000 50,000 0
OA7D FOIMBEAAY
50,000,002 14! 50,000
AR XA N 92,828 90,810 2,018
401 AlSHIL SO 92,828 90,810 2,018
01 Al&H] 92,000 90,000 2,000
ONF22l T2 HA(L=90n)
15,000, 0002 *14] 15,000
OS2l 42 & (L=100m)
15,000, 00021 #14] 15,000
OotE 12l OtAZ EH(L=100m)
15,000, 00021 #14] 15,000
OBUSSH ZYTA 10,000, 00021 #14] 10,000
OBTIIEIAL AILS RN 22
2,000,002 14! 2,000
OBiorE S B AL S
15,000, 00024 *14] 15,000
OYHS da U B4 20,000,002 14! 20,000
03 A& 828 810 18
OARS FOAXHAY A&LHY)
92,000, 0002 %0.90/ 100 828
™2 AALI(SHS)(OIEHIIE) 212,584 216,920 A4,336
=2l 29,532 27,353 2,179
Mol 2| 29,532 27,353 2,179
101 eIty 17,772 16,193 1,579
09 SIHFIZREH 17,772 16,193 1,579
OZgesAT BeloRY 7,772
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SH: S0l
M HHE2AZHI(SoHH)(IIEHIIE)
chl: Q2 A (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
-2 29,0103 »1Zx300< 8,703
203 725,2503 13 x300% 2,176
-HEF Oyl 725,250 * 1 % 120% 871
w2 Ll 30,000 x1H~12& 360
s 60,000 x1H =122 720
-AX < 29,0103 »1H 15 436
=5 29,010 »1H »52 1,509
“A2b2l 2R 5 5,440 x 1 »22 A 2bx 12 1,437
- g Al 80,000 x1H »12& 960
=JtH 2 =] 50,0003 *1H«12& 600
203 YRFLAY| 11,760 11,160 600
01 JI22FYRFL8Y| 6,600 6,000 600
OJ22HHRFEHI 6,600,000 6,600
02 HAINMHRFLI 960 960 0
OF ML R EZI Y| 40,0002 x24 % 960
04 RANSYAREXY 4,200 4,200 0
OFHESYYLETH (FR:24)
350,000& x12& 4,200
Jl2ZHl 183,052 189,567 A6,515
FAHSEH 107,412 107,325 87
201 B2 107,412 107,325 87
01 At 2eld] 30,910 31,160 A250
O1. et=2H| 15,400
-2EA2E det=EH| 15,400,000& 15,400
O3.248=%Y 8,550
- =&y 50,0002 *(110+61) 8,550
O5.2&Hl 4,800
-2EA2E =l 4,800,000& 4,800
O6. 84Xtz 2,160
-HE2E HHIYXZ 2,160,000& 2,160
02 232944l 76,502 76,165 337
O1.3323ZHA 54,820
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02 O

Mo ox <
0 [Ho re
02

ZHI(SoiH)(DJIEHIIE)

J| sl AR
SN C(BH) - NRAY - HES Aro Soe HlmE2

-&J|2 9,270,000& 9,270

=5 900,000& 900

-I2Se3 40,000, 000& 40,000

-SEMEHRE 3 200

NS 100,000& 100

k= 100, 000& 100

—ENLEREZ 3,800,000 3,800

SONE= PN D = 650

=2 (LE) 650,000 *1CH 650

O2. 92l 6,104,000& 6,104

O3. A€ EHl= X4l 12,337
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O1.22232HAl 5,880
-®II22 300, 00021 #1224 3,600
L S = 100, 000! * 12 1,200
-H5te3 45,0009 #1224 540
oI UE H AR E 45,0002 +122) 540
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OXFHSAR 2HAIHl 2,000 x22 x202 2% 960
401 Al&HI L2 10,000 0 10,000
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